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Prof A
Assignment 1_Basics due 09/05/2022 at 08:00am EDT

malls

Problem 1. (1 point) Library/FortLewis/Algebra/1-3-Equivalent-exp

ressions/MCH1-1-3-08-Equivalent-expressions.pg

Determine whether the expressions are equivalent or not.
[2]1. (a—b)? and a® — 2ab + b?
2. (a—b)?* and (a—b)(a—b)
3. (a—b)?* and (a—b)(b—a)
[214. (a—b)? and a® - b?
5. (a—b)* and (b—a)?

Answer(s) submitted:

(incorrect)

Problem 2. (1 point) Library/FortLewis/Algebra/2-1-Reordering-and
-regrouping/MCH1-2-1-01-06all-Reordering-and-regrouping.pg
Determine whether the expressions are equivalent or not.

1. 2xy and (2x)(2y)

[2P. 5—xand —x+5

[7B. (3x)(4y)(2x) and 24x%y

(2l 2c+dand c+2d

. x(3x) and 4x

. (x43)(x+4) and (x+3)(4+x)

Answer(s) submitted:

(incorrect)

Problem 3. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and-
factoring/MCH1-2-3-56-Expanding-and-factoring.pg
Factor the expression 10a® 4+ 32ab®. Simplify your answer as

much as possible. a\/ /0 0\3 +3 59)

( )(——) help (formulas)

Answer(s) submitted:

(incorrect)

Problem 4. (1 point) Library/FortLewis/Algebra/2-1-Reordering-and
-regrouping/MCH1-2-1-07-10all-Reordering-and-regrouping.pg
Determine whether the equations are identities.

21 36+202 =5

[2p. 4n?+ 307 =702

[2B. 2B +3A%B = 5AB?
(2] 222430 =50

Answer(s) submitted:

(incorrect)

Problem 5. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and-
factoring/MCH1-2-3-38-Expanding-and-factoring-old.pg

Factor the expression 4n® — 16n — 180. Simplify your answer as
much as possible, and put the greatest common factor in the first
answer box.

)(——) help (formulas)

Answer(s) submitted:

(incorrect)

= L{(V\a—qw» L{g)




'\quﬁm\/\é “Tvins V"‘l\ﬁ-k

o+ ag = (73 ) - %)

\e,mcl»lfw% o \u\c{f = (

3 (X4

~A—

578 +TA ’(0' - 57@+ \OX=2K— b DA)@\: 6;—%
- BX(X*LQ')“Z()U’J):(7(4-33(5}(_2‘) o\ A

-320

(1~ &%)

) @ deconpost B o
oL puds by geepimg (A mothed)

Fo\(/{b( %Ud C“VOWP\/%/ ( dovre o\ "L FTerwAg

%&Lﬁh“” ‘SL -3D !
?adb\"( J\( -20

fu\z\,\

1\ -30
-\, 730

x%+%\f+ Uy + 3. "

(Xg + %}i\'\‘ (Lh( + \'5\\ <« skl ec\un\ra[ewj(’ *

- 29
24

-

7 S
* +5) —
X (% +3) Lflirq) (x3) (X7 +1) Sy, s

\——’V"J

He & (T blw e plel, (XQA+L|A§

= (w4
2

Eﬁ‘ X +_(7<} —‘-hﬁ~9\<8 . Fachr \azﬁ cﬁmv\;\\f\%
:JZ[X%*—"*B)—L&(X *_IB DF%WJV\U g\ \S‘KU\C«VG/S

QS
X2 (% 1) =4 (A o= B = (- blatb)

(nole) o2+ deesnt dache)
GG —4) = D =Dk + ) e {




Problem 6. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and-
factoring/MCH1~2-3-46-Expanding-and-factoring-old.pg

Factor the expression x> + 24x + 144. Simplify your answer as
much as possible.

( ) ( _ ) help (formulas)
Answer(s) submitted:

(incorrect)

Problem 7. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and-
factoring/MCH1-2-3-60-Expanding-and-factoring-old.pg
Factor the expression (a +b)? — 81. Simplify your answer as

much as possible.
2 2
A A-B

( ) ( _ ) help (formulas) \
Answer(s) submitted:
=1

: (A1) A+D)

(incorrect)

Problem 8. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and-
factoring/MCH1-2-3-02-Expanding-and-factoring.pg

Expand the expression (y+7)(y — 1) and combine like terms.
Simplify your answer as much as possible.

help (formulas)
Answer(s) submitted:

(incorrect)

Problem 9. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and-
factoring/MCH1-2-3-44-Expanding-and-factoring-old.pg

Factor the expression x* + 17x. Simplify your answer as much as
possible.

)( ) help (formulas)
Answer(s) submitted:

(incorrect)

Problem 10. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and
-factoring/MCH1-2-3-16-Expanding-and-factoring.pg

Expand the expression (x —y)? and combine like terms. Simplify
your answer as much as possible.

help (formulas)
Answer(s) submitted:

(incorrect)

Problem 11. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and
-factoring/MCH1-2-3-09-Expanding-and-factoring.pg

Expand the expression (x — 6)? and combine like terms. Simplify
your answer as much as possible.

help (formulas)
Answer(s) submitted:

(incorrect)

Problem 12. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and
-factoring/MCH1-2-3-12-Expanding-and-factoring.pg

Expand the expression (x+ 8)(x —8) and combine like terms.
Simplify your answer as much as possible.

help (formulas)
Answer(s) submitted:

(incorrect)

Problem 13. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and
-factoring/MCH1-2-3-06-Expanding-and-factoring.pg
Expand the expression (a+ b+ c¢)(a+ b — ¢) and combine like
terms. Simplify your answer as much as possible.

help (formulas)
Answer(s) submitted:

(incorrect)

Problem 14. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and
-factoring/MCH1-2-3-68-Expanding-and-factoring.pg

Factor the expression (r+ 1)2 4 12¢(r 4 1) + 36¢2. Simplify your
answer as much as possible, but do not combine like factors.

help (formulas)
Answer(s) submitted:

(incorrect)

Problem 15. (1 point) Library/FortLewis/Algebra/2-3-Expanding-and
-factoring/MCH1-2-3-30-Expanding-and-factoring-old.pg

Factor the expression t2 — 27t +50. Simplify your answer as much
as possible.

( ) ( [ ) help (formulas)

Answer(s) submitted:

(incorrect)
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Problem 16. (1 point) Library/FortLewis/Algebra/2-4-Algebraic-fra
ctions/MCH1-2-4-06-Algebraic-fractions.pg

Write the expression as a single fraction. Simplify your answer.

7% = (omwmon CeJLNO""‘

T

Z 7 z =

Answer(s) submitted: 2
T2+ 27449

(incorrect) 7%

Byv2 . HIZ) o« LiL

by Nz Z\7
Problem 17. (1 point) Library/FortLewis/Algebra/2-4-Algebraic-fra
ctions/MCH1-2-4-24-Rlgebraic-fractions.pg

Multiply and simplify. Assume any factors you cancel are not
Zero.

ab+b
2b% 4 18b

Answer(s) submitted:

9a*>+18a
ata®

(incorrect)

Problem 18. (1 point) Library/FortLewis/Algebra/2-4-Algebraic-fra
ctions/MCH1-2-4-52-Algebraic-fractions.pg

Simplify the following expression. Assume any factors you can-
cel are not zero.

9

O
st

+
SES

Answer(s) submitted:
L]

(incorrect)

Problem 19. (1 point) Library/FortLewis/Algebra/2-4-Algebraic-fra
ctions/MCH1-2-4-04-Algebraic-fractions.pg

Write the expression as a single fraction. Simplify your answer.

Answer(s) submitted:

(incorrect)

Problem 20. (1 point) Library/FortLewis/Algebra/2-4-Algebraic-fra
ctions/MCH1-2-4-60-Algebraic-fractions.pg

Simplify the following expression. Assume any factors you can-
cel are not zero.

TS
4
m -+ 1
Answer(s) submitted:
L]
L]
(incorrect)

Problem 21. (1 point) Library/FortLewis/Algebra/2-4-Algebraic-fra
ctions/MCH1-2-4-12-Rlgebraic-fractions.pg

Write the expression as a single fraction. Simplify your answer.

S5+

Answer(s) submitted:

. Shovt

(incorrect)

Problem 22. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-78-Exponent-rules.pg

Using laws of exponents, rewrite the following expression as a
product.

334 =___ . __ help (numbers)

Answer(s) submitted:

(incorrect)




Problem 23. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-90-Exponent-rules.pg

Using laws of exponents, rewrite the following expression as a
quotient. help (numbers)

e 3(t+4)=
Answer(s) submitted:
L]

(incorrect)

Problem 24. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-62-Exponent-rules.pg

Rewrite the following expression without parentheses. Simplify
your answer as much as possible, and assume that all variables
are positive. help (formulas)

( ) |
q
Answer (S) submitted:

(incorrect)

Problem 25. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-44-Exponent-rules.pg

Rewrite the following using a single exponent. help (formulas)

)7

((a+)°)" =
Answer(s) submitted:

(incorrect)

Problem 26. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-40-Exponent-rules.pg
Rewrite the following using a single exponent. help (formulas)

2 5 2\5 -
T +y)P(x+y) = (—vo)
Answer(s) submitted:

L]

(incorrect)

Problem 27. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-34-Exponent-rules.pg

Rewrite the following using a single exponent. help (formulas)

a7b7 _ ( )7

Answer(s) submitted:

(incorrect)

Problem 28. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule

s/MCH1-6-1-74-Exponent-rules.pg
n

3
Select all expressions that are equivalent to o There may be

more than one correct answer.

.
>
|
N
W
~_
=

Answer(s) submitted:

(incorrect)

Problem 29. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-38-Exponent-rules.pg

Rewrite the following using a single exponent. help (formulas)

An+7 B" B7 — ( )7
Answer(s) submitted:

L]

L]
(incorrect)

Problem 30. (1 point) Library/FortLewis/Algebra/6-1-Exponent-rule
s/MCH1-6-1-50-Exponent-rules.pg

Without a calculator, determine whether the following quantities
are positive or negative.

[7]1. (=75)™
2. (—93)°
3. —1372
[2hk. 47
[255. (—97)"%

Answer(s) submitted:

(incorrect)




Problem 31. (1 point) Library/FortLewis/Algebra/6-2-Fractional-ex
ponents/MCH1-6-2-14-Fractional-exponents.pg

Write the expression as an equivalent expression in the form x".
Simplify your answer as much as possible, and enter your answer
as a fraction.

3
Vil =x"forn=___

Answer(s) submitted:

help (fractions)

L[]
(incorrect)
Problem 32. (1 point) Library/FortLewis/Algebra/6-2-Fractional-ex
ponents/MCH1-6-2-04-Fractional-exponents.pg

Evaluate the following expression without using a calculator.
Simplify your answer as much as possible, and enter your answer
as a fraction.

64\ "3
(5) -

Answer(s) submitted:

help (fractions)

(incorrect)
Problem 33. (1 point) Library/FortLewis/Algebra/6-2-Fractional-ex

ponents/MCH1-6-2-24-Fractional-exponents.pg

Combine radicals, if possible. Simplify your answer as much as
possible.

8V1203 + 31128 — 311/48 = (
) V3t help (formulas)

Answer(s) submitted:

Jva = (

(incorrect)

Generated by ©WeBWorK, http://webwork.maa.org, N ical Association of America

Problem 34. (1 point) Library/FortLewis/Algebra/6-2-Fractional-ex
ponents/MCH1-6-2-10-Fractional-exponents.pg

Simplify the following expression as much as possible. Assume
that all variables are positive.

V/125x10y7

= help (formulas)
Y27xy P

Answer(s) submitted:

(incorrect)

Problem 35. (1 point) Library/FortLewis/Algebra/1-3-Equivalent-ex

pressions/MCH1-1-3-14c-Equivalent-expressions.pg

Determine whether the expressions are equivalent or not.
[2]1. VA* 81 and (x* 4-81)/2
2. Vx4 481 and (x+3)?
[2B. vA# 181 and (x* +81)°3
‘ . V¥ +8land x+3
5. \/m and X2+ 9

Answer(s) submitted:

(incorrect)
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